ARETA #3

1. Find the areas of these triangles:
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3. Find the area of AABC and the tength of the
altitude from B

A a* +ore B
‘ 25 *q)*.;. %= 7.5 %
7?\ b2t
B o]
Az
= £ 24D
z @y
A= % oh
o4 =~ (2%
LXK

5. in the foliowing diagram X2 1| B
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2. Find the area of square ABCD
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4. If AC L BD, AE = EC = 10", and BD = 247,
find the area of the region bounded by ABCD

Acwe = Azas
2.-.543-?\
= '2,"[’(2"4110)

4]

Om

If ABCD is a square, find the area bounded by
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. 1Ne aiagonais of a mompus have iengths 15 and 20

Find the area of the rhombus and the length of one side.
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9. In surveying the filed ABCD shown here, a surveyor laid off
then he located the east-west lines
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8. Find the area of parallelogram ABCD

And the length of the altitude between

Sides BC and AD

a north-south line NS through point B and

C’E DF and AG. Find the area of the field ABCD. DF = 120’
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11. Find the area of AABC and AC
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